;> restart
> f(x) =x-2—6-x+8;

> L:=4
i L:=4
> a, = (%) int(f(x),x=-L..L)
80
W=
a
— _0
> C: >
_ 40
. ) o o 1Y . n-Pi-x B
> a, = subs| sin(n-Pi) =0, cos(n-Pi) =(-1)-n, T -int f(x)-cos(T),x——L..L))
_ 64 (-1)"
a,:= S
i nm
> b = subs(sin(n-Pi) =0, cos(n-Pi) = (-1)-n, (%)-int(f(x)-sin( n-Pix ),xZ—L..L))
_ n
b = 48 (- 1)
i nm
n-Pi-x . ( n-Pi-x oy e
> STF = C + Sum| a,-cos + b, sin ,n—l..mﬁmty)
o & 64(—1)”c0s(%nnx) 48(—1)"sin(%nnx)
STF = — + 5 +
3 n=1 l’lzTC nt

=> plot(f(x),x=-L..L)
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X
[ . n-Pi-x . ( n-Pix _ )
> STF, 0 = C—i—sum(an-cos(T) +bn-s1n( ),n—l..looo) .
[ > plot(STF, g0, x=-L.L)
I I I I I
4 3 2 -1 0 12 3
X

=> plot( [f(x), STFlooo]’ x=-0.005..0.005, color = [red, blue])
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X
;> restart
> f(t) ==exp(21)
| fl) =¢' 8)
> L:=1
| L:=1 )
> aq, = (%)-int(f(t),t=—L..L);evalf(%)
I 2, 1 2
ap:= - E e+ E e
i 3.626860408 (10)
)
> (C = T;evalf(%)
—_ 1 2 1 2
C: 4 e+ 4 e
1.813430204 an

> a, = subs(sin(n-Pi) =0, cos(n-Pi)=(-1)--n, (%)-int(f(t) -cos( n-LPi-t ), t=—L..L))

71\



-2

) )" 4268 (-1)"
a, = —%C (4J)r 2nze =l 12)
n
> b = subs(sin(nPi) =0, cos(n-Pi) = (-1)--n, (%)-int(f(t)-sin( ”'E"’ ),t=—L..L))
-2 n 2 n
e nm(-1)" —e nm(-1)
P 44T @)
> STF := C—I—Sum(a -cos( 7 ) +b, ( n-Ei-t ),n=1..inﬁnil)’)
STF:Z—%e_z % Z (-2e2(-1)"+2¢ (—21) ) cos(nmr) (14)
n= 4+n T
N (e?nm(-1)"—e*nn(-1)") sin(nmnt)
i 4+n27t2
> STFqpp = C—i—sum(an-cos( n-Pit ) —i-bn-sin( n-Pit ),n=1..5000) :
(> plot(f(1), t=-L..L)
7_
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2_
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> plot(STFsgy, t=-L..L)

(> plot(STFypp0 1=0.9..1)

0.5




4_

| ! | ! | ! |
0.90 0.92 0.94 0.96
t
[ > plot( [ f(1), STFsyq0]. t=0.5..0.501, color = [red, blue])

1.00
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;> restart
> f(t) == t-Heaviside(¢) —2-(t — 2)-Heaviside(t —2) + (¢t —4) -Heaviside(t — 4);
f(t) =tHeaviside(¢) —2 (¢t —2) Heaviside(f —2) + (¢t —4) Heaviside(t — 4) a5)

_> plot( f(t),t=-5..5, scaling= CONSTRAINED)




1.8
1.4

0.6
0.2

> g(t) ==-(t+4)-Heaviside(t +4) +2-(¢t +2)-Heaviside(¢ + 2) — ¢t-Heaviside(?);
g(t) = -(t+4) Heaviside(t +4) +2 (¢ +2) Heaviside(z + 2) — t Heaviside(?) (16)

i )
> plot(g(t),t=-5..5, scaling= CONSTRAINED)




(> (1) =f(1) +g(0)
h(t) :==-2 (t—2) Heaviside(t —2) + (¢t —4) Heaviside(t —4) — (¢ +4) Heaviside(r + 4) a7n

i +2 (t+2) Heaviside(t + 2)
> plot(h(t),t=-5..5)
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,t=-L
10 (sin(gnn) _2 ncos(—nn)
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=5
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) s
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" nznz nT
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n-Pi-t

> STF, 0 = sum(bn-sin( ),n=1..1000j :

[ > plot(STF gy, t=-5..5)
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=> plot( [h(t), STF1000]> t=3.99.4.01, color = [red, blue])
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(> plot( STF 0 1 =-20..20)







